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KEY AND MARKING SCALE
PLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.

I. COMPREHENSION (15 POINTS)
Testees shouldn’t be penalised for spelling or grammar mistakes in the comprehension section.

A. MULTIPLE CHOICE: (2 pts)
The correct answer is: ¢ A successful business story
B. TRUE/FALSE: (3 pts, 1pt each: 0.5 pt for the right choice and 0.5 pt for the right justification. Consider the
justification ONLY if the choice is correct)
1. F....when she was a student at university.
2. T. employees can manage all bookings (and payment) online.

3. T. they are flexible and they can use any space available.

C. WH-QUESTIONS: (3 pts; 1 pt each)
1. different services such as massage, food coaching, yoga classes, haircuts and manicure
2. the customers/ the company’s employees
3. social media(like Facebook and Twitter)/website/business cards/ attends all wellbeing and fashion events.

D. SENTENCE COMPLETION: (3 pts; 1 pt each)
1. ... the biggest challenge Natalia (Natalia’s business) faced at the beginning.
2. ... bein charge of every little detail/ deal with difficult situations/ be flexible
3. ...its services extended beyond the UK/ the company has now branches in other countries/ the company
employs now hundreds of workers worldwide.
E. WORD MEANING: (2 pts; 1 pt each)

1. handicap 2. supportive
F. WORD REFERENCE: (2 pts; 1 pt each)
1. employees 2. BeWell/ the company
Il. LANGUAGE (15 POINTS)
A. GAP FILLING: (1 pt; 0.5 pt each) 1. take care of. 2. breaks down.
B. GAP FILLING: (2 pts; 0.5 pt each) practise — vitamins — attention - health
C. WORD FORM: (1 pt; 0.5 pt each) 1. autonomy - 2. interesting
D. GAP FILLING: (2 pts; 1 pt each) 1. when 2.to give

E. VERB TENSE: (3 pts; 1 pteach) married - worked/had worked/ had been working - will have produced
F. SENTENCE REWRITING: (2 pts; 1 pt each)

1. Interesting discounts are offered to new customers ( by the company) ...

2. ..., he would/could have answered all the questions.
G. MATCHING: (2 pts; 0.5 pt each)

l.c 2d 3.b 4.e
H. COMPLETING THE EXCHANGES: (2 pts) Accept any appropriate answer.
. WRITING (10 POINTS; Task 1: 4 pts — Task 2: 6 pts)
The following criteria should be respected while scoring the writing tasks.

Scoring criteria Task 1 (4 points) | Task 2 (6 points)
Relevance of content to the task 2 pts 3 pts
Appropriateness and variety of vocabulary 1 pt 2 pts
Grammar and mechanics 1pt 1pt
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